N & o & AF &2 H Ml A
20098 = =0l A L BES|H|
AN SEAEA
M HoIE UHEE
Chel: MD| SHIRIR HEE BAEM CRE-E)
SN I SRI(S) - NRAY - B 01l &t o Soe B RS2
SHE A A 10,725,954 10,778,130 AB2,176
= 2,296,000
= 115,500
Al 8,314,454
HII2 A& st 7,665,774 7,654,274 11,500
= 2,296,000
= 115,500
Al 5,254,274
Medl 2EXMelZ HHE SEXY 3,750,774 3,537,607 213,167
= 32,000
Al 3,718,774
ofd & otMed| EEtArY 64,000 0 64,000
= 32,000
Al 32,000
101 Q12| 11,803 0 11,803
= 5,902
Al 5,901
10 JIZtN22NSEx 11,803 0 11,803
Oct&ot RFRMII Hel 11,803,000 11,803
= 5,902
Al 5,901
201 ZEH23H] 52,197 0 52,197
= 26,098
Al 26,099
01 AtR2teld 32,197 0 32,197
Oodtdsct+ Ml XMl 32,197,000& 32,197
= 16,098
Al 16,099
02 2324l 20,000 0 20,000
Odct&ot FRMII Hel 20,000,000& 20,000
= 10,000
Al 10,000
HAEH el 259,900 170,000 89,900
201 LEH23H] 189,900 170,000 19,900
01 Atf2teld 12,400 12,400 0




A BEAE A

X Hol=2 A&zt
Bl M)l 2 X2 HHE XY

_ _ _ Muo
SN CR(EH) - NRAY - BES 0l & 24 e HRE2
oget=EHl 12,400,000& 12,400
02 =294l 177,500 157,600 19,900
O3S ZLHA 25,500,000 25,500
OA &&= XYl 2,000,000& 2,000
OXtet e gt| 150,000,000& 150,000
405 XtobESHI 70,000 0 70,000
01 XML EEHSHI 70,000 0 70,000
OSASMYII=AXE WM 2L
70,000,000 70,000
MADISEH =X 751,334 668,622 82,712
201 Lt 69, 100 84,500 A 15,400
01 AtR2teld 15,100 10,500 4,600
oY=l 13, 100,000& 13,100
O= gl 2,000, 000& 2,000
02 23293l 54,000 74,000 220,000
OSB3 2R=Z A 9,000,000& 9,000
OA& EHHIR X HI 5,000,000& 5,000
O Xtk Bl 40,000, 000& 40,000
202 OdHl 10,234 13,022 A2,788
01 3LUWAbI 10,234 13,022 N2,788
OZA=Z I 10,234,000& 10,234
203 YRFLAY| 3,000 1,000 2,000
03 AIMFAHR =LY 3,000 1,000 2,000
oMgJ] 2LliE 22 YRFA
2,000,000 2,000
OMEHII= A2AE AXAY HEFA
1,000,000& 1,000
206 = HI 189,000 148,600 40,400
01 M=ZHl 189,000 148,600 40,400
OZER(HIY) MEag+HEI 7Y
3,000, 000& 3,000
OHE&s =HE HH 5,000,000& 5,000
OsASMeIl =AHEI M 14,000,000& 14,000
oMdDl SN SEFHE 134,400, 000& 134,400




FA:
X XH .
o =

o9l

3 A A

Hol= A& et

M| M2z WARS BETY

SN C(BH) - NRAY - HES O] &k o8 Soe HlmE2
OHJISZ H&E 12,000,000& 12,000
OosA=MY I ERES ME 3,600,000& 3,600
QHAEX =HEI HE 2,000,000& 2,000
O=Yyild Zel=HE M 10,000, 000& 10,000
OMEsLaEE K] 5,000,000 5,000
307 glz2told 480,000 420,000 60,000
05 QIZtEZ 480,000 420,000 60,000
OMEMY I T2 UAAE 22(S
Zate) 480,000,000& 480,000
Mol 2SI 28 20,200 14,000 6,200
201 L3 19,000 11,000 8,000
01 AtR2teltl 17,000 9,000 8,000
Oget=EH| 12,000,000& 12,000
o=l 3,500,000& 3,500
oY=z 1,500, 000& 1,500
02 =329l 2,000 2,000 0
OAl &&= XYl 2,000,000& 2,000
301 YPBAS 1,200 3,000 A1,800
12 JIEI2 A3 1,200 3,000 A 1,800
oMgDl SEEI| ANEASF 1,200, 000& 1,200
s30lstd 22 26,000 35,700 29,700
201 LBHE2HH| 26,000 35,700 29,700
01 At=2teldl 20,000 29,700 A9,700
O et=ZH| 4,600,000& 4,600
OF=1=i:] 13,000, 000& 13,000
(©FIpNy= 2,400,000& 2,400
02 ==29gHl 6,000 6,000 0
O232=Z A 2,000,000& 2,000
Od =l 2,000,000& 2,000
OA&EHIS XL 2,000,000& 2,000
M0l HE & 2l 1,087,640 1,203,685 A 116,045
101 oldt| 70,340 58,185 12,155




SN
X XH .
(=

chel:

3 A A
HOI=2 K&zt
Medl 2 M=

ma BAXA

_ _ _ Muo
SN EB -GS - MBAY - BES 0 & 24 e HRE2
10 JIARIZXSE 4 70,340 58, 185 12,155
OMESE deAs 2o 53,066
SIE 41,7802 *42 %233 38,939
oxEftay 41,7808 4% +48L 8,022
o=0INZ S 4H2EE
46,961,0002 *13% 6,105
OMADINEE =8 =M 2,990
S 32,0002 *35 %302 2,880
cMTiNEEE 2,880,000 +3.8% 110
OMY DN B =S el o1 5,979
ool 32,0002 +3 *60L 5,760
cMEE R 5,760,0002! *3.8% 219
OUEHIIE & &M 222 3,322
ooy 32,0008 *2 & +502 3,200
oMATINEEE 3,200, 0002 *3.8% 122
ONEZ20HE =L 4,983
SIE 32,0008 *3% +50L 4,800
oMiNEE R 4,800,000 +3.8% 183
201 Ygr2yl 128,800 113,500 15,300
01 Atz 52,000 27,500 24,500
CETETER =Y 49,000,000%! 49,000
ouxa 3,000,000} 3,000
02 BI2YH| 76,800 86,000 ~9,200
OAN&EEBIS I 76,800,000 76,800
206 2| 30,000 27,000 3,000
01 Mzl 30,000 27,000 3,000
OBHE4HUAE P 20,000,000 20,000
OFE4 ABAS L IR 7Y
4,000,0002! 4,000
OHELHAANE 22 NN 7Y
3,000,000%! 3,000
OME wojotZ Rl 3,000,000%! 3,000
307 QI20IH 24,500 0 24,500




FA:
X XH .
o =

o9l

3 A A

Hol= A& et

M| M2z WARS BETY

_ _ _ Muo
SN H - SR(EH) - NPAMY - BES 0] &F o e HlE2
01 g2+ =dl 24,500 0 24,500
O&MOtS=F2 ALHA 24,500,000& 24,500
401 AIEHIZ SO 610,000 985,000 A 375,000
01 Al&HI 606,283 979,015 N3T72,732
OFE=Held Ex=3AH(EZ2 B, X
omd ) 20,000,000& 20,000
O &= Ol EXI0H
586,283,000& 586,283
03 AlZ=0idl 3,717 5,985 N2,268
O &E=H Ol=0H& EXI0H
590,000, 000& *0.63% 3,717
402 QI2HGE01M 161,000 0 161,000
01 2UAR2EX 161,000 0 161,000
OH OIS el HEAE
161,000,000 161,000
405 XHAHESHI 63,000 0 63,000
01 A =SESFHSHI 63,000 0 63,000
Od=E==2¢8 #3322 A 55,000,000& 55,000
ooz + 8,000,000& 8,000
Mol A2E 22 1,278,300 1,165,600 112,700
201 ZEH23H] 200,300 190,600 9,700
01 Atf2teld 35,700 41,000 25,300
oget=EHl 35,700,000& 35,700
02 22944 164,600 149,600 15,000
O332=ZL A 120,000, 000& 120,000
O =l 22,000,000& 22,000
OA& EHIR XY 20,000,000& 20,000
OXteH et| 2,600,000& 2,600
206 THZ=HI 86,000 80,000 6,000
01 M=z 4l 86,000 80,000 6,000
OA2E 2FLIL 237 57,000
COUNAMT TY(HNHE )
40,000, 000& 40,000
oA FU(ELMSSHA)
10,000,000& 10,000




SA
X XH .
(=

chel:

BB AR A
HOIE X3
M| HE M2 HAS BHXH

_ _ HE T
SN H - SR(EH) - NPAMY - BES 0] &F o e HlE2
cEHE P (CHOIZAHA) 7,000,000 7,000
OLLIUXNANL2E NS 15,000,000 15,000
oY= R+ 8,000,000 8,000
O==NsSsSEEX JIAMFY 6,000, 000& 6,000
307 glz2told 912,000 830,000 82,000
05 BIZtREZ 912,000 830,000 82,000
OMEHIISA2AUE QIS 2]
912,000, 000& 912,000
401 AIEHIZ=20HY] 80,000 65,000 15,000
01 Al&HI 80,000 65,000 15,000
OXIEHIIS(HI4HH) I el
45,000,000& 45,000
OAUE UIIBHEAIE B 20,000,000 20,000
OAUHE 422 B 15,000,000& 15,000
SASHII= MalAlE 2 263,400 280,000 A 16,600
201 LEH23H] 31,600 53,000 A21,400
01 AtR2teld 10,000 41,000 A31,000
Ooget=EH| 10,000,000& 10,000
02 2244 21,600 12,000 9,600
O==L=aLAHA 2,000,000& 2,000
O =l 3,000,000& 3,000
OA& EHHIR XY 15,000,000 15,000
O Xtk Bl 1,600,000& 1,600
206 TH=HI 22,000 28,000 6,000
01 M=z 4l 22,000 28,000 26,000
OSASHelANE 2E 243 728 22,000
oItE AL FY(PHEE) 15,000, 000& 15,000
cEFM P (AHMMAH) 5,000,000& 5,000
oZASMY I EHRES MA
2,000,000& 2,000
307 QI2t0IA 184,800 171,000 13,800
05 GIZtREZ 184,800 171,000 13,800
OSAZHIIE HelAld el2ifetd
184,800,000 184,800




A BEAE A

M3 HII2 KR
Sl MD| HFHER HNE BHEY k)
SN B SRA(SIH) - MBAY - BAS 0l &k 24 e HlnE2
401 AlSHIL =0 25,000 28,000 A3,000
01 Al&Y] 25,000 28,000 3,000
odgEMHI| +4 15,000, 000! 15,000
osESHI| +4 10,000, 0002! 10,000
BAIENL BE 3,852,000 4,049,667 A 197,667
2 2,264,000
= 105,500
Al 1,482,500
MY IR AL &5 1,310,000 2,646,667 ~1,336,667
2 393,000
Al 917,000
401 AlSHIL O] 1,310,000 2,646,667 ~1,336,667
2 393,000
Al 917,000
01 AI&g] 1,305,284 2,637,138 ~1,331,854
OANSAMMBE 12 =AY
1,305,284,0002 1,305,284
2 391,585
Al 913,699
03 Al&SCH] 4,716 9,529 £4,813
OANSAMMBE IISH HZAY
1,310,000,000% *0. 36% 4,716
2 1,415
Al 3,301
stezeX HelAA A 702,000 1,403,000 A701,000
2 491,000
= 105,500
Al 105,500
401 AlSHIL 2O 702,000 1,403,000 A701,000
2 491,000
= 105,500
Al 105,500
01 AIZH] 697,577 1,376,483 678,906
Odt===cd Xl MelAlZArd 697,577,000 697,577
2 487,904
= 104,836




SN BRAYA
Ha: HII2 XS

& SHII=AE =E (ctel &
SN HH G (EH) - MBAY - BYS 01l &+ o4 Soe s
Al 104,837
03 AlZ=0Hd] 4,423 5,051 A628
Odt===ciXl MelAlZArd
702,000,000 *0.63% 4,423
= 3,096
& 664
Al 663
MEHIIZE A2Ad 4X 1,840,000 0 1,840,000
= 1,380,000
Al 460,000
401 Al&HIZ204YI 1,840,000 0 1,840,000
= 1,380,000
Al 460,000
01 Al&HI 1,833,376 0 1,833,376
OMEH IS A2AAE &X
1,833,376,000& 1,833,376
2 1,375,032
Al 458,344
03 Al&Z=0Hd] 6,624 0 6,624
OMEHII=Z= A2AE &EX
1,840,000, 0002 *0.36% 6,624
= 4,968
Al 1,656
SHEHHY =HEHAS N 63,000 67,000 24,000
& 10,000
Al 53,000
SHEHHE=HE AU XA 63,000 67,000 24,000
& 10,000
Al 53,000
301 YEtEAE 63,000 67,000 24,000
L= 10,000
Al 53,000
12 JIEI2 &3 63,000 67,000 24,000
OHHIE =H&d=z 63,000, 000& 63,000
= 10,000
Al 53,000
HY2AZH(BF A D) 3,060, 180 2,703,856 356,324
I




SA BTAYA
M HE2FGHI (S A L)
chl: QA2 A (chel &)
SN C(BH) - NRAY - HES O] &k o8 Soe HlmE2
ol 2HH| 3,012,780 2,643,056 369,724
oz 2oyl 3,012,780 2,643,056 369,724
101 el | 3,008,580 2,638,856 369,724
02 =% 54,750 78,072 N23,322
oxzu=2Rg 54,750
obg 9,796 & x 1H »40A| 2+x 128 4,703
o635 8,312 x2H »40A| 2tx 12 7,980
S¥e= 7,457 3 x2H *40A| 2Hx 128 7,159
o8= 6,682 x2H x40 A| 2tx 12 6,415
=9 5,993 x9H »40A| 2tx 12 25,890
=J|ls10= 5,422 x1H 40N 2Hx 12 2,603
08 JIEIRE = 3,045 0 3,045
oOFJAZIE(1Y) 3,045
oxU22Y 3,045
S ECECES=
6,342 x 1H »40A| 2tx 12 3,045
09 RIAHAZZXE=S 2,950,785 2,560,784 390,001
OstA0ISHA(77H) 2,950,785
=Jlzg 1,062,007,000& 1,062,007
ol|Yxg 1,588,687,000:& x4/ 12+50% 264,782
ocdIHE 1,588,687,0002 *2/12+38% 100,617
oSSR 90,000 *77H x12& 83, 160
oXUHHASTY 70,0003 *77H 128 64,680
oI s 61,724
— B < At 40,0003 *7780.78x12& 28,829
—-E5 20,000& 77 +0.70%12& 12,936
-l 20,0002 »77H *1.08+12& 19,959
oSy EX Y 29,088
-2 51,4003 »77H *0.20%43] 3,167
-1 420,790 77 %0.2%43] 25,921
cHXRSRII=TY 65,000 *77H x 17 85,085
o522 Y 92,000& 30«12 33,120




SN BAALA
Ha: HH2AAY (BBARL)
chel: oz 2yl (649l &2
_ _ _ Muo
SAN-ZH-SA(FA) - NFAY - BES Aol Ofl At ot HwsZ
cOIt2RaY 4,0002+77 B +262 * 122 9,096
oNzeRRAY
12,0002 %77 %16l 2H+122 177,408
oTAUZAY| 160, 0002 +77% * 122 147,840
SV RS 110,000 #7724+ 122 101,640
SRS 140, 0002 +77% * 122 129,360
S EEEE 1,588,687, 000! %5/ 12+50% 330,977
oY E I 1,588,687, 0002 %2/ 12+60% 158,869
oIl =] 18,172,000% 18,172
&0 AR AHS
80,0002 +77% *13] 6. 160
203 YRFFY| 4,200 4,200 0
04 BANSILREXY| 4,200 4,200 0
ORN2Y Y=Y 350,0008 + 122 4,200
EEE 47,400 60,800 A 13,400
=2yl 47,400 60,800 A 13,400
201 Y2yl 6,600 8,000 A 1,400
01 AtR2elHl 6,600 8,000 A 1,400
CETER=Y] 4,000,000 4,000
CEEL] 1,600,000 1,600
CIEL] 1,000,000 1,000
202 o1l 40,800 52,800 A 12,000
01 =Uioit] 40,800 52,800 A 12,000
CRIVES I 40,800,000% 40,800
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